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1. Fill in the blank with the appropriate word from the options given below: 

He, as well as his friends, ____________ denied entry to the stadium. 

(a) aren't 

(b)  were 

(c) was 

(d) has 

2. Correct the following sentence by replacing the underlined word from the 

given options: Chanakya, also known as Kautilya the strategist, lived for the 

reign of Chandragupta Maurya 

(a)  under 

(b) since 

(c) during 

(d)  no change / no error 

3. Choose the grammatically correct sentence from the following options: 

(a)  My mother's official car is parked elsewhere 

(b) My mothers' official car is parked elsewhere 

(c) My mother's official car is parked everywhere 

(d)  My mother's official cars is parked elsewhere 

4. Rearrange the following sentences into a logical and meaningful paragraph. 

(A) A famous Japanese rock garden is at Ryoan-si in Northwest Kyoto, Japan. 

(B) The rocks of various sizes are arranged on small white pebbles in five 

groups, each comprising five, two, three, two and three rocks. 

(C) The garden is 30 meters long from East to West and 10 metres from North 

to South. 

(D) The garden contains 15 rocks arranged out on surface of white pebbles in 

such a manner that visitors can see only 14 of them at once from whichever 

angle the garden is viewed. 

(E) There are no trees, just 15 irregularly shaped rocks of varying sizes, some 

arranged by gravel that is raked everyday. 

Choose the correct answer from the options given below: 
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(a) (A), (C), (E), (B), (D) 

(b) (A), (E) (B), (D), (C) 

(c) (C), (A), (E), (D), (B) 

(d) (B), (A), (D), (C), (E) 

5. The given sentence is split into segments and one of the segments may 

have an error. Identify the segment with an error from the options given 

below: 

(A) The declining birth rate in developed  

(B) nations is being interpreted as an response to  

(C) the rising cost of living and inadequate care-giving structures 

(a) A 

(b) B 

(c) C 

(d) no error 

6. Choose the appropriate option to improve the following sentence by 

replacing the underlined part: How do Saira appeal to the examiners? 

(a) How does 

(b) How did 

(c)  How does not 

(d) How has 

7. Choose the most appropriate sentence from the options given below to 

logically complete the following paragraph: 

The highest ideals of the age today are humanism and scientific spirit. There 

has been an apparent conflict between the two. But the great upheaval of 

thought today, with its questioning of all values, is removing the old 

boundaries between the external world of science and the internal world of 

introspection. 

(a) Man (humanism) and Nature (Scientific spirit) are distinct entities 

(b) Scientific spirit still stands in opposition to humanism 

(c) There is a growing synthesis between humanism and scientific spirit, resulting 

in a kind of scientific humanism 

(d) Our five senses and what they can perceive obviously do not exhaust the 

universe 
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8. Choose the appropriate word from the options given below for the following 

expanded form:  

"the feeling or ideas that are suggested by a word" 

(a)  Connotation 

(b) Collections 

(c) Corrigendum 

(d) Convention 

9. Choose the appropriate option from the following which best expresses the 

meaning of the given word. 

"Nepotism" 

(a) Favouritism 

(b) Carelessness 

(c) Inefficiency 

(d) Altruism 

10. Which of the following sets are Antonyms: 

(a)  Honour - Reverence 

(b) Glory - Renown 

(c) Fabricate - Construct 

(d) Eradicate – Plant 

11. Complete the following sentence by choosing the correct idiom from the 

options given below: 

My uncle is known for telling long, winding stories. Everyone in the family is 

aware that what he says must be____________.  

(a) worth your salt 

(b) a piece of cake 

(c) taken with a pinch of salt 

(d) full of beans 

12. Identify which segment of the following sentence has an error, choose 

option 4 if there is no error. 

One of my / friends are going / to London next week 

 A  B    C 

(a) A 

(b) B 

(c) C 

(d) No error 
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13. Improve the following sentence by replacing the underlined word with the 

appropriate word from the options given below. If no change is required, 

choose option 4. 

Since her health was deteriorating rapidly, the doctor directed her to a 

specialist 

(a) referred 

(b) deferred 

(c) recommended 

(d) no change is required 

14. Choose the appropriate word for the underlined words in the following 

sentence 

The front part of the historical monument was damaged in the earthquake. 

(a) Visage 

(b) Facade 

(c) Threshold 

(d) Moat 

15. Choose the appropriate idiom from the options given below to replace the 

underlined part of the following sentence 

That argument is unsound. 

(a) will not hold water 

(b) will not hold oil 

(c) will not hold anything 

(d) will drop everything 

16. The "Objectives Resolution" was introduced in constituent assembly by :- 

(a) Sardar Vallabh Bhai Patel 

(b) Dr. Rajendra Prasad 

(c) Dr. Bhim Rao Ambedkar 

(d) Jawahar Lal Nehru 

17. Kalpsutra, the illustrated canonical text is from: - 

(a) Vedic tradition 

(b) Buddha tradition 

(c) Jain tradition 

(d) Sankhya tradition 
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18. If, 5$3@1 = 7 

 6$2@2 = 6 

Then, 1$2@3 = ? 

(a) 0 

(b) 1 

(c) 2 

(d) 3 

19. National Sample Survey Office (NSSO) is under the_________ of the 

Government of India.  

(a) Ministry of Finance 

(b) Ministry of Education 

(c) Ministry of Home Affairs 

(d) Ministry of Statistics and Programme Implementations. 

20. If the digits in the number '758462139' are arranged in ascending order, 

then how many digits remain in the same place? 

(a) one 

(b) two 

(c) three 

(d) four 

21. The minimum age required for becoming the Prime Minister of India 

is___________ 

(a) 38 years 

(b) 40 years 

(c) 45 years 

(d) 25 years 

22. Who among the following is first Indian woman athlete to win 3 

Paralympic medals? 

(a) Avani Lekhara 

(b) Mona Agarwal 

(c) Deepthi Jeevanji 

(d) Nithya Sre Sivan 
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23. If in a certain code language 'PUSH' is written as '1419176' then how will 

'HIKE' be written in that language? 

(a) 6783 

(b) 6793 

(c) 6193 

(d) 6183 

24. Which of the following is known as ' heart of the computer '? 

(a) CPU 

(b) Mother Board 

(c) Speaker 

(d) Scanner 

25. Which Indian Space Mission completed its halo orbit around the Sun-

Earth L1 Point. 

(a) Gaganyaan L1 

(b) Aditya- L1 

(c) Mangalyaan -L1 

(d) Chandrayaan- L1 

26. The Harappan city almost exclusively devoted to craft production was -: 

(a) Harappa 

(b) Mohenjodaro 

(c) Chanhudaro 

(d) Rakhigarhi 

27. ISRO (Indian Space Research Organisation) headquarter is located 

in__________.  

(a) Delhi 

(b) Bengaluru 

(c) Chennai 

(d) Kochi 

28. A 6 cm long chord of a circle is at a distance of 4 cm from the centre of 

the circle. Find the distance of 8 cm long chord of the same circle from the 

centre. 

(a) 2.5 cm 

(b) 4 cm 

(c) 3.5 cm 

(d) 3 cm 
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29. In how many ways can 10 men be divided into two groups of 4 men and 6 

men? 

(a) 5040 

(b) 151200 

(c) 210 

(d) 2520 

30. Introducing a man, a women said, "His wife is the only daughter of my 

father". How is that man related to the woman? 

(a)  Brother 

(b) Son 

(c) Husband 

(d) Father-in-law 

31. What is the full form of "RAM" in computer terminology? 

(a) Random Account Memory 

(b) Random Access Memory 

(c) Read Access Memory 

(d)  Random Access Management 

32. PDF stands for________ 

(a) Pure Document Format 

(b) Pure Document Font 

(c) Portable Document Format 

(d) Portable Document Font 

33. Who among the following Indian Para-shuttler won the gold medal in the 

men's singles SL3 category at the Paris-Paralympics-2024? 

(a) Suhas Yathiraj 

(b) Pramod Bhagat 

(c) Krishna Nagar 

(d) Nitesh Kumar 

34. Disregard commonly known facts. Which conclusion would follow on the 

basis of given statements only. 

Statement: Some bottles are car. some cars are cycle. 

Conclusion: 

(I) Some bottles are cycle is a possibility 

(I) All bottles are cycle 

In light of the above statements, choose the most appropriate answer from 

the options given below. 
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(a) Only conclusion (I) follow 

(b) Only conclusion (II) follow 

(c) Both conclusion (I) and (II) follow 

(d)  Neither (I) nor (II) conclusion follow 

35. What is the least number which, when divided by 7, 12 and 15 leaves 1 as 

the remainder in each case? 

(a) 419 

(b) 421 

(c) 423 

(d) l519 

36. Which of the following is the 51st Chief Justice of the Supreme Court of 

India? 

(a) Justice Ranjan Gogoi 

(b) Justice Uday Umesh Lalit 

(c) Justice D. Y. Chandrachud 

(d) Justice Sanjiv Khanna 

37. A has a container containing 60 litres of pure milk. He takes out 4 litres 

of milk and replaces it with the same quantity of water. He sells this mixture 

to B. B sells 30 litres of the mixture and added 5 litres of water in the 

remaining mixture. The ratio of milk to water in the remaining mixture is: 

(a) 5:2 

(b) 4:1 

(c) 7:2 

(d) 3:2 

38. Which of the following is an example of a fourth generation of Computer? 

(a) IBM-4341 

(b) ENIAC 

(c) IBM-7030 

(d) UNIVAC- 1108 

39. Name the Governor of the Reserve Bank of India as on 1- January-2025 

(a) Urjit Patel 

(b) Sanjay Malhotra 

(c) Shaktikanta Das 

(d) Raghuram Rajan 

 



MAANSAROVAR LAW CENTRE   PAPER CODE – COQP11 

9 

      QUESTION PAPER – COQP11, 2025 

40. The Indian constitution prohibition of traffic in human beings and forced 

labour: This violates the :- 

(a) Right to equality 

(b) Right to freedom 

(c) Cultural and Educational Right 

(d) Right against exploitation 

41. What is the difference between compound interests on ₹15000 at 8% per 

annum for 𝟏
𝟏

𝟐
 years when interest is compounded semi-annually and when it 

is compounded annually? (Rounded off to nearest rupee) 

(a) ₹25 

(b) ₹20 

(c) ₹28 

(d) ₹30 

42. Mohandas Karamchand Gandhi launched quit India movement after the 

failure of :- 

(a) Round Table Conference-III 

(b) Cripps Mission 

(c) Cabinet Mission 

(d) Salt March 

43. 'NIPUN Bharat Mission' is launched by which ministry? 

(a) Ministry of Education 

(b) Ministry of Agriculture & Farmer Welfare 

(c) Ministry of Communications 

(d) Ministry of Finance 

44. The average age of a group of boys and girls is 18 years. If the average age 

of boys is 20 years and that of girls is 15 years, then what is the percentage of 

boys in the group? 

(a) 50% 

(b) 45% 

(c) 60% 

(d) 55% 
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45. The sum of the digits of a 2-digit number is 12. When the digits of the 

number are interchanged, the number becomes 15 more than twice the 

original number. The original number is: 

(a) 39 

(b) 48 

(c) 57 

(d) 75 

46. On the bank of which River did Lord Ram spend his first night while going 

on exile? 

(a) Ganga River 

(b) Sarayu River 

(c) Tamsa River 

(d) Subarnarekha River 

47. If A exceeds B by 50% and B is less than C by 25%, then A : C is : 

(a) 2:1 

(b) 1:8 

(c) 3:8 

(d)  9:8 

48. At what time (to nearest second) immediately after 4 o'clock do the hands 

of a clock coincide? 

(a)  04:20:00 o'clock 

(b) 04:20:45 o'clock 

(c) 04:21:49 o'clock 

(d) 04:21:55 o'clock 

49. A shopkeeper bought an item for ₹7825 and marked it at 30% higher than 

the cost price. If he sells the item by allowing 20% discount, then his profit 

percentage will be : 

(a) 3% 

(b) 4% 

(c) 5% 

(d) 6% 
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50. The Tropic of Cancer passes through which one of the following states of 

India? 

(a) Nagaland 

(b) Manipur 

(c) Tripura 

(d) Meghalaya 

51. One Zettabyte is equal to________ 

(a) 1024 GB (Gigabyte) 

(b) 1024 TB (Terabyte) 

(c) 1024 PB (Petabyte) 

(d) 1024 EB (Exabyte) 

52. Who among the following was the author of Mahabharat. 

(a) Maharishi Parashar 

(b) Maharishi Balmiki 

(c) Maharishi Ved Vyasa 

(d) Maharishi Bhardwaj 

53. What was the day of the week on 15th August 2006? 

(a) Thursday 

(b) Wednesday 

(c) Tuesday 

(d) Monday 

54. A bought an article at a certain price and sold it at 10% profit. B bought 

the same article at a price10% lesser than A and sold it at ₹ 18 lesser than A. 

B's gain percentage in this deal is 20%. At what price B bought the article? 

(a) ₹ 900 

(b) ₹ 810 

(c) ₹ 880 

(d) ₹ 920 

55. If 15: 225 :: 35: x , then what is the value of √𝒙 + 𝟏𝟎𝟎 ? 

(a) 15 

(b) 20 

(c) 24 

(d) 25 

 

 

 



MAANSAROVAR LAW CENTRE   PAPER CODE – COQP11 

12 

      QUESTION PAPER – COQP11, 2025 

56. Who among the following was not a member of the constituent assembly: - 

(a) G. Durgabai Deshmukh 

(b) Sarojini Naidu 

(c) Jawahar Lal Nehru 

(d) Mohandas Karamchand Gandhi 

57. Study the following question carefully and choose the right answer 

Statement: Should articles of only deserving authors be allowed to be 

published? 

Arguments: 

(I) No, it is not possible to draw a line between the deserving and the 

undeserving. 

(II) Yes, it will save a lot of paper which is already in short supply. 

In light of the above statements, choose the most appropriate answer from 

the options given below. 

(a) Only I argument is strong 

(b) Only Il argument is strong 

(c) Both I and II are strong 

(d) Neither I nor II argument is strong 

58. Read statements carefully and decide the cause-effect relation between 

the statements: 

Statement (I): The farmers have decided against selling their crops to the 

government agencies. 

Statement (II): The Government has reduced the procurement price of crops 

starting from last month to the next six months. 

In light of the above statements, choose the most appropriate answer from 

the options given below. 

(a) Statement (I) is the cause and Statement (II) is its effect. 

(b) Statement (II) is the cause and Statement (I) is its effect. 

(c) Both the Statement (I) and (II) are independent causes. 

(d) Both the Statement (I) and (II) are effects of independent causes. 

59. Which of the following is the shortcut key to open a 'New Blank' document 

in MS-Word? 

(a)  CTRL + B 

(b)  CTRL + N 

(c)  CTRL + V 

(d)  CTRL + M 
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60. A completes 
𝟕

𝟏𝟎
 of a work in 15 days and then he completes the remaining 

work with the help of B in 5 days. In how many days can A and B together 

complete the entire work? 

(a) 13
1

3
 

(b) 15
3

4
 

(c) 14
1

2
 

(d) 16
2

3
 

61. Read the information and answer the question that follow: 

 

In the last few years, several new shopping malls were opened in the city. The 

total number of visitors in the malls is unimpressive. However, the total 

revenue generated through sales in the shops in these malls is generally high. 

 

Which one of the following is the most appropriate logical inference based on 

the information in the above passage? 

(a) Large number of people are visiting the malls but not spending enough 

(b) Fewer people are visiting the malls but spending more 

(c) Fewer people are visiting the malls and not spending enough 

(d) Large number of people are visiting the malls and spending more 

62. Find the number of triangles in the given figure 

 

(a) 10 

(b) 12 

(c) 14 

(d) 18 

63. What is the full form of "UIDF" which was established as per India's Union 

Budget-2023-24. 

(a) Urban Identification Development fund. 

(b) Unique Identification Development Fund 

(c) Urban Infrastructure Design Fund 

(d) Urban Infrastructure Development Fund 
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64. The "LEN()" function in MS-Excel belongs to which of the following 

categories? 

(a) Financial 

(b) Logical 

(c) Maths & Trig 

(d) Text 

65. There are five men - A, B, C, D and E, six women - P, Q, R, S, T and Z. A, 

B, and R are advocates. S, Q, P, D and C are doctors and the rest are teachers. 

A team has to be selected from these eleven persons subject to the following 

conditions: 

(I) A, P and Z have to be together. 

(II) B cannot go with D or R. 

(III) E and Q have to be together. 

(IV) C and T have to be together. 

(V) D and P cannot go together. 

(VI) C cannot go with Q. 

If the team formed consists of two male advocates, two lady doctors and one 

teacher, the members of the team can be: 

(a) A,B,P,Z,S 

(b) A,B,P,Q,Z 

(c) B,E,Q,R,S 

(d) A,P,R,S,Z 

66. There are five boys P, Q, R, S and T sitting in a row facing North such that 

P is right of Q and T is left of R and right of P. Q is right of S. Which boy is in 

the middle of the row? 

(a) P 

(b) Q 

(c) R 

(d) T 

67. To check spelling and grammar in MS Word, which key should be pressed? 

(a) F6 

(b) F3 

(c) F8 

(d) F7 
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68. Full form of TCP is: 

(a) Transmission Control Protocol 

(b) Transporatation Control Panel 

(c) Transportation Control Protocol 

(d) Transmission Central Protocol 

69. In the following question, find out the alternative which will replace the 

question mark. 

84: 9 = 124 : ? : 292:17 

(a) 11 

(b) 10 

(c) 9 

(d) 7 

70. Arrange the given words in the sequence in which they occur in the 

dictionary: 

(A) SEARCH 

(B) SEWAGE 

(C) SECURE 

(D). SETTLE 

Choose the correct answer from the options given below: 

(a) (A), (C), (D), (B) 

(b) (A), (B), (C), (D) 

(c) (B), (C), (D), (A) 

(d) (D), (C), (B), (A) 

71. The door of Aman's house faces east. From the back side of his house, 

Aman walks straight 30m. Again he walks 20m after turning to his left, then 

he turns to his right and walks 30m. Finally, he turn towards north and walks 

20m and 

stops. So, what is the distance between the starting and the end point? 

(a) 45m 

(b) 40m 

(c) 50m 

(d) 60m 
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72. Which number will come next in the series: 

8, 4, 4, 6, 12, ? 

(a) 28 

(b) 30 

(c) 32 

(d) 36 

73. The height of a cylinder is 14cm and its curved surface area is 264cm2. 

The volume of the cylinder (in cm3) is: (𝝅 =  
𝟐𝟐

𝟕
 ) 

(a) 308 

(b) 396 

(c) 1584 

(d) 1232 

74. Which of the following NOT a Direct Tax? 

(a)  Income Tax 

(b)  Corporation Tax 

(c)  Property Tax 

(d)  Customs Duty 

75. Which of the following short cut key is used in MS word for close a file. 

(a) CTRL + F 

(b) CTRL+ W 

(c) CTRL + F7 

(d) CTRL + F2 


